3 (Sem-5) ZOO

2018

ZOOLOGY
( General )

( Cell Biology, Genetics and
Developmental Biology )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Ansuwer either in English or in Assamese

1. Write True or False : 1x10=10
T 1 W el
(a) Viruses that parasitized bacteria are
called macrophages.
@ERAR P& ST (T T @I |
(b) Every kind of animal cell is bounded by
a living, thin membrane called nuclear

membrane.
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(2)

The outer surfaces of Golgi compiex has

attached ribosomes.

T R RIS AR T o2
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The longest animal cell is nerve cell.
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The term ‘mutation’ was first c

Altman

oined by

TAREET TG AYH AR

Fffea |

Nucleus was discovered by Becker

in 1931.

3303 BT (513 RSl wiftw e |

The acrosome present in sperm head is

formed by Golgi complex.
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Barr bodies are fo
human male,

und in somatic cells of
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The terms cistron
coined by Benzer

@ o, i
Ffafes |

Smooth endopla
muscle cell is
reticplum.
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2. Answer the following qu

e 2R S 7 B

(@)

(b)

(c)
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What is S phase
@TER S T 2

Define spermioger

wvfﬁﬁﬁmﬁﬂ IR

Why is lysosome ¢
of the cell?
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(4) (!
d) D 3

(d) Define complete linkage. 4. Answer the following

Y e g o | ' o TR o fi -
() Name the ovarian hormones, {a) () Write the fur
with special
o W’“"‘lﬂﬂwﬁm ‘ . transport sy
3. Write short notes o ! g AR
" following : N any four of tsl'::: 0 TR TG R
o R e S v o fora ' -

. : i 'b

(a) Golgi bodies @ Efiﬁglaimig

ity A : functions.
. B e
(b) Lampbrush chromosome S s
CTEIE T Y'5'y ‘ (b) () What do yo
. Write an ac

© Natur ‘ aberration.
atural parthenogenesis Seofiadn
AT Ao womy fomafs oo
| (
(d) Active transport (i) Discuss the
g Rt chromosomne
of sex in ms
TRA S 43
(e) Types of egg found in animal AR cFae
M RS srprg ferm , e 4 |
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(d)
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(6)

() What is fertilization? Write an
account on the process of .
fertilization in sea urchin. 2+8=10

e &2 M@ smafire camr fica
R afb Grm oy |

Or / 5371

(i) What do you mean by extra-
embryonic membrane? Write an
account on the different extra-
embryonic membranes found in
mammal, : 2+8=10

e @R iﬁza R e g
mcwﬁfxﬁww%ﬁ@ﬁmw
R afb G o |

(i) What is crossing-over? Describe the
mechanism of crossing-over and itg
significance. 2+6+2=10
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( Continued )
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Or

(i) Why is meio
reduction di
occur? Desc
meiotic divisi
frerfoe o R
I comn 2
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